GOVERNMENT DEGREE COLLEGE PATHIKONDA AFFILIATION DETAILS 2019-20GOVERNMENT DEGREE COLLEGE PATHIKONDA AFFILIATION DETAILS 2019-20

I.Institution Details

University Name	RAYALASEEMA UNIVERSITY	College Name	GOVERNMENT DEGREE COLLEGE PATHIKONDA
Academic Year	2019-20	Affiliation Type	Permanent
Address.	Near Old Busstand,Pattikonda Kurnool,PATTIKANDA,PAT Near Old Busstand,Manro Tho	ΓΙΚΟΝDA,	
Email ID	pattikondagdc.jkc@gmail.com	Phone No. Office	8520226988
Mobile No.	8330936520	College Website	www.gdcpattikonda.org
Status of the College	Co_Education	College Type	Standalone
Nature of the college	Government College	Year of Establishment	1988
Whether Accrediated by NAAC	Yes	College Shift /Timings	First shift Engineering & Second shift D i p l o m a 10:00 AM TO 4:00 PM,
Minority Type		Whether the College has 2(f) & 12B of UGC Act	Yes
Date of First approval by APSCHE/NCTE	29/07/1988	Date of First Affiliation by the University	29/07/1988
Date of Governing Body Meeting Held I		Date of Governing Body Meeting Held II	
Having Minority Status		No	
University Name	RAYALASEEMA UNIVERSITY	College Name	GOVERNMENT DEGREE COLLEGE PATHIKONDA
Academic Year	2019-20	Affiliation Type	Permanent
Address.	Near Old Busstand,Pattikonda Kurnool,PATTIKANDA,PAT Near Old Busstand,Manro Tho	ΓΙΚΟΝDA,	
Email ID	pattikondagdc.jkc@gmail.com	Phone No. Office	8520226988
Mobile No.	8330936520	College Website	www.gdcpattikonda.org

Status of the College	Co_Education	College Type	Standalone
Nature of the college	Government College	Year of Establishment	1988
Whether Accrediated by NAAC	Yes		First shift Engineering & Second shift D i p l o m a 10:00 AM TO 4:00 PM,
Minority Type		Whether the College has 2(f) & 12B of UGC Act	Yes
Date of First approval by APSCHE/NCTE	1/9/11//1988	Date of First Affiliation by the University	29/07/1988
Date of Governing Body Meeting Held I		Date of Governing Body Meeting Held II	
Having Minority Status		No	

Society Details

	· · · · · · · · · · · · · · · · · · ·	†				
Nonoty Nomo	ANDHRA JATHEEYA KALASALA,MACHILIPATNAM	Date of Registration	10/05/1972			
Society Registration No.	10576/70	Email ID	ajkalasala1910@gmail.com,			
Society Address	RAJUPETA, RAJUPETA, Machilipatnam (Urban), Machilipatnam (Urban), 521001, Krishna,					
Phone No. Office	08672229000	Fax No.				
Mobile No.	1949 1 1 1 1 1 1 / /	Details of change of Society	NOT APPLICABLE			

Head of the Society Details

Chairperson/Correspondent/Secretary Name	G.V.D.N.LEELA KUMAR	Designation	Correspondent		
Educational Qualification	IB A	House/Door/Flat/Plot No.	RAJUPETA		
Address	RAJUPETA, Andhra Pradesh Krishna, Machilipatnam (Urban), 521001				
Phone No. Office	08672229000	Mobile No.	9491000727		
Email ID	ajkalasala1910@gmail.com	Change of Chairperson			

II.SOCIETY LAND DETAILS

Sl.No	Registration No.	Date of Registration	Revenue Division-SRD	Survey No.	Society Area(in Acres)	Whether the Land is	Distance between two pieces(in Mts.)	Mandal	Village	
-------	------------------	-------------------------	-------------------------	------------	------------------------------	------------------------	---	--------	---------	--

LAND DETAILS

Sl.No	Registration No. (Society Land)	Area Used by College (in Acres)
1.	Reg. No.:Govt. Land, Dt.01/01/0001 (0)	0

Building Area Details

Sl.No		Instructional Area		Administrative Area	Amenities Area	Access & Circulation Area	Total Built-up Area			
1.	31470			1100	600	2000	35170			
	Geo - Position									
Lat,Lo	Lat,Long 15.3988634,77.4995957 Location: Pattikonda518380Unnamed Road, Pattikonda, Andhra Pradesh 518380, India									
	Land Allotted by Society									
Allotn	nent Date	29/07/1988								
			Building Plan	approved by the Competent Authority						
Issued	By:	Panchayat	Issued Date:	29/07/1988						
			Khasra Plan	approved by the Competent Authority						
Issued	By:	GO NO	Issued Date:	29/07/1988						
Occu	pancy/Cor	npletion Certificate (For I	Newly establish	ed Institutions only) issued by a Competent Authorit	ty i.e, Muni	cipality/Pan	chayath			
				Office						
Issued	By:	GO NO	Issued Date:	29/07/1988						

Instructional Area Details

Sl.No	Particulars	Building/Block Name	Room No.	Length (in Ft.)	Breadth (in Ft.)	Carpet area of each room (in Sq.Ft)
1.	Class Rooms	Administrative & Academic Block	12	40	20	800.00
2.	Class Rooms	Administrative & Academic Block	6	50	20	1000.00
3.	Class Rooms	Administrative & Academic Block	Botany Lab	60	20	1200.00
4.	Class Rooms	Administrative & Academic Block	B.Sc Computer Lab	30	20	600.00
5.	Class Rooms	Administrative & Academic Block	Chemistry Lab	80	25	2000.00
6.	Class Rooms	Administrative & Academic Block	Physics Lab	70	25	1750.00
7.	Class Rooms	Administrative & Academic Block	Zoology Lab	60	20	1200.00
8.	Computer Centre/Museum	Administrative & Academic Block	1,e class room	30	20	600.00
9.	Computer Centre/Museum	Administrative & Academic Block	B.Com lab	30	20	600.00
10.	Computer Centre/Museum	Administrative & Academic Block	B.Com Lab	30	20	600.00
11.	Computer Centre/Museum	Administrative & Academic Block	Digital Class Room	30	20	600.00
12.	Computer Centre/Museum	Administrative & Academic Block	Digital Class Room	30	20	600.00
13.	Computer Centre/Museum	Administrative & Academic Block	Digital Class rooms,	60	22	1320.00
14.	Computer Centre/Museum	Administrative & Academic Block	JKC Lab	60	22	1320.00
15.	Computer Centre/Museum	Administrative & Academic Block	Virtual Class	60	22	1320.00
16.	Seminar Halls	Administrative & Academic Block	seminar Hall	80	22	1760.00
17.	Workshops	Administrative & Academic Block	IQAC Room	10	20	200.00
18.	Workshops	Administrative & Academic Block	NSS Room	10	20	200.00

Administrative Area Details

Particulars	No of Rooms	Total Area (Sq.Ft.)
Principal Room	1	500
Board Room	0	0
Office Room	1	200
Department Office	0	0
Head of Department	0	0
Faculty Rooms	12	1500
Central Stores	1	300
Maintenance	1	100
Security	1	100
House Keeping	0	0
Pantry	1	300
Examination Control Office	1	200
Placement Office	1	300

COURSES OFFERED BY THE INSTITUTION WITH INTAKE DETAILS--FIRST SHIFT

Sl.No	Course/AffiliationType	Branch	NBA Accredated	Approved 2019-20	Affiliation Required 2019-20	Approved 2018-19	Addmited 2018-19	Supernumeric/ Lateral Entry	Approved 2017-18	Addmited 2017-18	Supernumeric/ Lateral Entry	
1.	B.A.(Telugu) /Regular/Permanent	History-Economics-Political Science	-	60	60	0	0	0	0	0	0	
2.	B.Com(English) /Self- financed/Temporary	Computer Applications	-	50	50	0	0	0	0	0	0	
3.	B.Com(Telugu) /Regular/Permanent	General	-	60	60	0	0	0	0	0	0	
4.	B.SC(English) /Self- financed/Temporary	Mathematics-Physics-Computer Science	-	60	60	0	0	0	0	0	0	
5.	B.SC(Telugu) /Regular/Temporary	Mathematics-Physics-Chemistry	-	40	40	0	0	0	0	0	0	
6.	B.SC(Telugu) /Regular/Temporary	Botany-Zoology-Chemistry	-	40	40	0	0	0	0	0	0	

STUDENTS ADMITTED UNDER PIO/FOREIGN NATIONALS--FIRST SHIFT

Sl.No	Course	Branch	NBA Accredated	Approved 2019-20	Addmited 2019-20	Approved 2018-19	Addmited 2018-19	Approved 2017-18	Addmited 2017-18	Year of Starting Course
1.	B.A.(Telugu) /Regular/Permanent	History-Economics-Political Science	-	0	0	0	0	0	0	
2.	B.Com(English) /Self- financed/Temporary	Computer Applications	-	0	0	0	0	0	0	
3.	B.Com(Telugu) /Regular/Permanent	General	-	0	0	0	0	0	0	
	B.SC(English) /Self- financed/Temporary	Mathematics-Physics-Computer Science	-	0	0	0	0	0	0	
5.	B.SC(Telugu) /Regular/Temporary	Mathematics-Physics-Chemistry	-	0	0	0	0	0	0	
6.	B.SC(Telugu) /Regular/Temporary	Botany-Zoology-Chemistry	-	0	0	0	0	0	0	

Student Results--FIRST SHIFT

Sl.No	Course	Branch	Appeared 2018-19	Passed Out 2018-19	Appeared 2017-18	Passed Out 2017-18	Appeared 2016-17	Passed Out 2016-17
-------	--------	--------	------------------	-----------------------	------------------	--------------------	------------------	--------------------------

1.	B.A.(Telugu /Regular/Permanent	History-Economics-Political Science	0	0	0	0	0	0
2.	B.Com(English /Self- financed/Temporary	Computer Applications	0	0	0	0	0	0
3.	B.Com(Telugu /Regular/Permanent	General	0	0	0	0	0	0
4.	B.SC(English /Self- financed/Temporary	Mathematics-Physics-Computer Science	0	0	0	0	0	0
5.	B.SC(Telugu /Regular/Temporary	Mathematics-Physics-Chemistry	0	0	0	0	0	0
6.	B.SC(Telugu /Regular/Temporary	Botany-Zoology-Chemistry	0	0	0	0	0	0

COURSES OFFERED BY THE INSTITUTION WITH INTAKE DETAILS--SECOND SHIFT DIPLOMA

Sl.No	Course/AffiliationType	Branch	NBA Accredated	Approved 2019-20	Affiliation Required 2019-20	Approved 2018-19	Addmited 2018-19	Supernumeric/ Lateral Entry		Addmited 2017-18	Supernumeric/ Lateral Entry	Yea Star Co
1.	B.A.(Telugu) /Regular/Permanent	History-Economics-Political Science	ı	0	0	0	0	0	0	0	0	
2.	B.Com(English) /Self- financed/Temporary	Computer Applications	-	0	0	0	0	0	0	0	0	
3.	B.Com(Telugu) /Regular/Permanent	General	-	0	0	0	0	0	0	0	0	
4.	B.SC(English) /Self- financed/Temporary	Mathematics-Physics-Computer Science	-	0	0	0	0	0	0	0	0	
5.	B.SC(Telugu) /Regular/Temporary	Mathematics-Physics-Chemistry	1	0	0	0	0	0	0	0	0	
6.	B.SC(Telugu) /Regular/Temporary	Botany-Zoology-Chemistry	-	0	0	0	0	0	0	0	0	

STUDENTS ADMITTED UNDER PIO/FOREIGN NATIONALS--SECOND SHIFT DIPLOMA

Sl.No	Course	Branch	NBA Accredated	Approved 2019-20	Addmited 2019-20	Approved 2018-19	Addmited 2018-19	Approved 2017-18	Addmited 2017-18	Year of Starting Course
	B.A.(Telugu) /Regular/Permanent	History-Economics-Political Science	-	0	0	0	0	0	0	
2.	B.Com(English) /Self- financed/Temporary	Computer Applications	-	0	0	0	0	0	0	
	B.Com(Telugu) /Regular/Permanent	General	-	0	0	0	0	0	0	
	B.SC(English) /Self- financed/Temporary	Mathematics-Physics-Computer Science	-	0	0	0	0	0	0	

5.	B.SC(Telugu) /Regular/Temporary	Mathematics-Physics-Chemistry	-	0	0	0	0	0	0	
6.	B.SC(Telugu) /Regular/Temporary	Botany-Zoology-Chemistry	-	0	0	0	0	0	0	

Student Results--SECOND SHIFT DIPLOMA

Sl.No	Course	Branch	Appeared 2018-19	Passed Out 2018-19	Appeared 2017-18	Passed Out 2017-18	Appeared 2016-17	Passed Out 2016-17
1.	B.A.(Telugu /Regular/Permanent	History-Economics-Political Science	0	0	0	0	0	0
2.	B.Com(English /Self- financed/Temporary	Computer Applications	0	0	0	0	0	0
3.	B.Com(Telugu /Regular/Permanent	General	0	0	0	0	0	0
4.	B.SC(English /Self- financed/Temporary	Mathematics-Physics-Computer Science	0	0	0	0	0	0
5.	B.SC(Telugu /Regular/Temporary	Mathematics-Physics-Chemistry	0	0	0	0	0	0
6.	B.SC(Telugu /Regular/Temporary	Botany-Zoology-Chemistry	0	0	0	0	0	0

VI 1.1) Principal Details

Aadhar	Employee Name	Gender	Dob	Age	Employee Type	Designation	Qualifications		Experience in present college	Experience in Previous college	present college join date	
334407170915	Dr,M.PURUSHOTHAM REDDY	Male	01/06/1960	59	REGULAR	Principal	-	8330936520				

VI 1.1) Non Teaching Staff Details

Sl.No	Aadhar	Employee Name	Gender	Dob	Employee Type	Designation	Qulifications		Ratified By University	Ratification Date
1.	604012647488	M.sreenivasulu	Male	16/07/1982	REGULAR	Record Assistant	-	9618736819	No	-

VI 1.3)UG Teaching Staff Details

Sl.No	Aadhar	Employee Name	Gender	Dob	Designation	Qulifications	Teaching Subject	Mobile	Ratified By University	Ratification Date
1.	334407170915	Dr,M.PURUSHOTHAM REDDY	Male	01/06/1960	Principal	-	DEGREE ACADEMIC (-)	8330936520	No	-
2.	276667486722	Dr.A.Lakshmaiah	Male	01/07/1965	Assoc. Prof.	Phd.(Botany- Ecology)	DEGREE ACADEMIC (Botany)	9440561104	No	-
3.	587549723985	Sri.B.Krupender Reddy	Male	08/06/1962	Assoc. Prof.	M.Sc.(Chemistry)	DEGREE ACADEMIC (Chemistry)	9885968429	No	-
4.	897877042796	Dr.K.Venu Gopal	Male	28/08/1972	Assoc. Prof.	Phd.(chemistry)	DEGREE ACADEMIC (Chemistry)	9440967500	No	-
5.	324619262950	Sri.B.Venkanna	Male	07/06/1985	Assoc. Prof.	M.Sc.(Chemistry)	DEGREE ACADEMIC (Chemistry)	9959917216	No	-
6.	481144213058	Sri.G.D Rajender	Male	15/05/1970	Assoc. Prof.	M.C.A.(M.C.A.)	DEGREE ACADEMIC (Computer Science)	9866399182	No	-
7.	700617213705	Dr.B.M Vinod Kumar	Male	21/06/1973	Assoc. Prof.	M.A.(Economics),Phd.(ECONOMICS)	DEGREE ACADEMIC (Economics)	9440968722	No	-
8.	217159285961	Sri.M.Venkatesulu	Male	02/06/1977	Assoc. Prof.	M.Phil(M.Phil)	DEGREE ACADEMIC (English)	9014076296	No	-
9.	791869486218	Sri. Malli Babu Sankarapu	Male	06/06/1986	Assoc. Prof.	M.A.(English)	DEGREE ACADEMIC (English)	8328177406	No	-
10.	793760629877	Dr.K.Sreenivasa Reddy	Male	01/06/1973	Asst. Prof	Phd.(History)	DEGREE ACADEMIC (History)	9441656390	No	-
11.	451308559277	Dr.K.Appala Naidu	Male	31/03/1987	Assoc. Prof.	Phd.(Maths)	DEGREE ACADEMIC (Mathematics)		No	-
12.	467420148615	A Ravi Sankar Sarma	Male	24/05/1965	Assoc. Prof.	M.Sc.(Electronics)	DEGREE ACADEMIC (Physics)	9849018720	No	-
13.	783278070177	Sri.V.Venkata Narasiah	Male	10/05/1962	Assoc. Prof.	M.A.(Political Science),M.Phil(M.Phil)	DEGREE ACADEMIC (Political Science)	9441022236	No	-

14.		Sri P Ramanjaneyulu					DEGREE			
	617272931795		Male	01/07/1979	Assoc. Prof.	M.Sc.(Zoology)	ACADEMIC	9493795009	No	-
							(Zoology)			

X. Computers and Internet Details

Total No of Computers available:	100	Internet Band width available (in MBPS)	2
Whether Wi-Fi facility available to staff and students:	Yes	Computer to Student Ratio	1:0

Softwares Details

Sl.No	Name of the Software	No of Licenses
1.	Apache Tomcat Server	0

XI.Library Facilities Details

Library Carpet Area	1200	Reading Room Capacity	50
Whether Library automation software is being used	Not Available	Library Timings	10 -05
Repographic photostat facilities	Not Available		
Во	oks		
No.of Titles	200	No.of Volumes	15000
Jour	rnals		
National	3	International	0
Journals	1	E-journals	1
No of terminals with internet connection:	0	Availability to students(timings)	10-04
Internet Bandwidth(Mbps)::		0	

Examination Details

Sl.No	Staff Name	Staff Designation
1.	Dr,M.PURUSHOTHAM REDDY	Principal

Examination Branch Details

Whether location and ambience of the Examination Branch congenial for carrying out confidential work	INO	No non Computer Systems
No of Non High Speed Copier Machines	()	Internet Bandwidth(Mbps)
Sperate Room	Not Available	

XII.Aadhar Biometric System Details

Adhar Biometric System adopted for Students		Adhar Biometric System adopted for Staff:	Available	
No of Biometric Systems Available	5			
CC Cameras				
Whether Cc Cameras Installed or not		Not Available		

Toilets				
Are Students Toilets Available Available Available Are Staff Toilets Available				
Boys Urinals	4	girls Urinals	8	
Boys WCS	4	girls WCS	8	
Gents Urinals	4	Ladies Urinals	0	
Gents WCS	4	Ladies WCS	0	

XVI.Hostel Accomodation Details

Land Location	Total Area of Land
No Of Buildings	Total Floor Area
Internet	No of Floors

XVI.Sports Area Details

Ball Badminton Court:	Not Available	Badminton Court :	Available
Basket Ball Court	Not Available	Cricket Field	Not Available
Running Track	Not Available	Foot Ball	Not Available
Volley Ball Field	Not Available	Soft Ball Court	Not Available
Tennis Ball Court	Not Available	Standard Non Standard Track:	Not Available
Hand Ball Field:	Not Available	Hockey field:	Not Available
Kho-kho Field:	Available	Kabadi Court:	Available
Total Area of Sports Fields	8000 Swimming Pool:		NOt Available
Indoor Stadium	Not Available		
Multupurpose Gym	Available		

Affiliation Fee Status

Sl.No	Ack No.	Fee Paid
1.	1904212	17500.00

XVII.Co Curicular Aspects Details

Internal Quality	Available	Griveance Redressal	Available
Mou with industry	Not Availble	Campus recruitment in college	Not Availble
Entrepreneur Development Cell existing	Available	College g Nss Details	AVaialble
College Having Ncc Details	Not Availble	Placement Cell	Available
Whether annual report, audited Expenditure Stetement for each financial year	Available	Whether College has uploaded DCF-II Form Pertaining to MHRD-AISHE for The Current Year	Available
Whether Women protection Cell Established	Available	Anti Ragging Measures	A Program has been conducted with Circle Inspector of Pattikonda, Circle to eradicate Ragging. A Notice board displayed against ragging.
Obudusmen Exists	AVailable	Physical Education Details	
Physical Directer Existing	Not available		

XII.College Facilities Details

Self Appraisal Faculty:	Available	Students Feed BAck :	AVailable
Students Common Room:	AVailable	Principals Quarter:	Not Available
Staff Quarter:	Not Available	Guest House:	Not Available
Co-operative Stores:	Not Available	Bank:	Not Available
Post Office:	Not Available	Student Canteen:	Not Available
Health Care Centre:	Not Available	Information Hand Books:	Available
College Magazines:	Not Available	College Functions In last Year:	2
Mode of Transport to Institute:	Available	Approach Roads:	Not Available
Sewage:	Available	Parking Place:	Available
Girls Waiting Room With Toilets:	Not Available	Seminar Hall:	Available
Fire Safety Certificate:	Not Available	Sanitary Certificate	Not Available
Anti Ragging Campaign:	Available	carrer Guidence cell	Available
Solar Power:	Available	For Pwd	Available
Hobby Centres:	Not Available	Reading Room	AVailable
Capacity Of Solar Power:	15	Capacity of generator	
Bariear free environment:	Available	Bariear free environment type	Fully
Drinking Water Purification Type:	ro		•

Bank Details

Name of the Bank:	State Bank Of India
District:	Kurnool
Branch IFSC Code & Name:	SBIN0000981
Account No:	11452692596

XVIII.Status of Compliance of specific deficiencies of last approval/extension of approval

Sl.No	Specific Conditions/Deficiencies	Compliance Status Complied or Not Complied	Remarks
1.	NIL	Complied	